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2020 Q-59 [set-A] Average

In a class, there are three groups A, B and C. If one student
from group A and two students from group B are shifted to
group C, then what happens to the average weight of the
students of the class?
(a) Itincreases (b) It decreases (c) It remains the same
(d) No conclusion can be drawn due to insufficient data

T & 7 <A WE A, B 3R C 81 aft W A 9 v fremeft
3R wE B ¥ &1 frenfRiat @ wg ¢ F weriaRa frar st
2, ) Pt & frenffal & iiRaT WK &1 7T BNI?

(a) IE TG ST (b) TS TSI (c) TS T&T W&

(d) 31T AThel P BRI PIS FFTSHE-TET BT ST FehelT &

2020 Q-39 [set-A] Average
The average age of a teacher and three students is 20 years. If all the
three students are of same age and the difference between the age of
the teacher and each student is 20 years, then what is the age of the
teacher? (a)25years (b)30years (c)35years (d)45years

T+s,+s,+s
= L1751 75753
20 2

80 = T+3s 80 =T + 3(T-20)
T Rrarep SiR A BTl Y iR 311 20 a 81 AR AT B 7AW I B 80 = 4T -60

gt ok e o SRS BT AT MY BT SRR 20 A 2, ar Rra & | 1207 TS T=35
Igfpate?  (a)25af (b)30a¥ (c)35af (d)45af

2020 Q-69 [set-A] Average

The average score of a batsman after his 50th

innings was 46.4. After 60th innings, his average 46.4 = Score in first 50 tests a9 = Score in 60 tests

score increases by 2.6. What was his average score

50 60

in the last ten innings?

(a)122 (b)91 (c)62

(d) 49

2320 = Score in first 50 tests

2940 = Score in 60 tests

T JectdTol BT I 50T TRY & I1S 37T ThIR 46.4
ol 60T IRY &P 1S, AT H T PR 2.6 92 ST &l
froely =@ aTRAT § IHPT 3T TR T 2AT?

Score in last 10 tests = 2940 - 2320

=620

(@) 122 (b)91 (c)62 (d)49

Average in last 10 tests = 62

2019 Q-40 [set-A] Average

0=Sum

The average marks of 100 students are given to be 40. It 100 Sum = 4000
was found later that marks of one student were 53 which
were misread as 83. The corrected mean marks are Correct sum = 4000 - 83 + 53
()39 (b)39.7 (c)40 (d)40.3 =3970
for 7w & 15 100 frenRia @ sifaa siw 40 & 9€ F T" Correct Sum
. Correctaverage = ——(—————
T T 6 Uap feremeif @1 3 53 o R o ¥ 83 uar 100
TRIT | TR sie oie ReeeT 872 - 3970
(a)39 (b)39.7 (c)40 (d)40.3 100
2019 Q-55 [set-A] Average
A family has two children along with their parents. The average of the M+cl+c2 _ gg
weights of the children and their mother is 50 kg. The average of the 3
weights of the children and their father is 52 kg. If the weight of the
father is 60 kg, then what is the weight of the mother? Frcl+c2 _ 52 F=60
(a)48kg (b)50kg (c)52kg (d) 54 kg 3
Rt aRER ¥ &Y a=r Eailk STpwTaT-—frar 81 a4t ok IFH ATaT HaTE 60 +cl+c2 = 156
PT AT 50 kg &1 Toat 3R S R & awiT T 3T 52 kg 1 IRy frem cl+c2 = 96
BT o 60 kg &, AT HTAT BT aorT fpeT 872 M +96 = 150
(a)48kg (b)50kg (c)52kg (d)54 kg M = 54 kg
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https://youtu.be/b_55ym-_SfU
https://youtu.be/kWFDmyqjrpY
https://youtu.be/b_55ym-_SfU
https://youtu.be/kWFDmyqjrpY

2016Q:77 [set-A] Average

year?

(a) Rs. 12,000

The average monthly income of a person in a certain family of 5 is Rs.
10,000. What will be the average monthly income of a person in the
same family if the income of one person increased by Rs. 1,20,000 per
(b) Rs. 16,000 (c) Rs. 20,000 (d) Rs. 34,000

old

New

3T ¥ Rs 1,20,000 fer a9 Y gieg 81 S 32
(a) Rs. 12,000 (b) Rs. 16,000 (c) Rs. 20,000

5 gfhal & fopeit U aRar & ufey cafh 3ivaer 3T Rs 10,000 Uy a7
21 S aRar & ufer cafes sitaa s ar erft afe forsdY v cafh 6t

(d) Rs. 34,000

10,000 = S”Tm

Sum = 50,000

=60,000

Sum = 50,000 + %

Average
& 5

60,000

12,000

2022Q:80 [set-A] Average

average weight of A, B, C, D, E and F?
(a)40.5kg (b)40.8kg (c)41kg
(d) Cannot be determined as data is inadequate

The average weight of A, B, C is 40 kg, the average weight of B, D,
E is 42 kg and the weight of F is equal to that of B. What is the

40

_A+B+C

3 42 =

_B+D+E

3

120=A+B+C

126 =D+E+F

(a) 40.5kg (b) 40.8 kg (c) 41 kg
(d) Fraffa T& fpar o wwar Fife s smafm &

A, B, C &7 3iI\7d YR 40 kg &; B, D, E &7 3id YR 42 kg ¥ 3R F
HTYR B & YR & SRR 81 A, B, C, D, E 3R F &7 3ia UR 1 8?

Average =

A+B+C+D+E+F

6

Average =

120 + 126
6

=41

201728 [set-A] Average

Suppose the average weight of 9 persons is 50 kg. The
average weight of the first 5 persons is 45 kg, whereas
the average weight of the last 5 persons is 55 kg. Then
the weight of the 5th person will be

(a)4a5kg (b)47.5kg (c)50kg (d)52.5Kg

50 =

atb+...+i

9

450 = a+b+...+i

45 =

g NfoTg 6 9 cafral @ siaa aoi 50 kg &1 T2H 5
afehal & ST aoi 45 kg B, Safe sife 5 cafwar @t
3T aoT 55 kg 21 GTad 2t &1 aore 8T

(a)45kg (b)47.5kg (c)50 kg (d) 52.5 kg

55 =

atb+c+d+e

e+f+g+h+i

5

5

225 = a+b+ct+d+e

275 = e+f+g+h+i

500 = a+b+...+h+i + e

500 =450 + e
50=e

2017.:68 [set-A] Average

The average rainfall in a city for the first four days was

recorded to be 0.40 inch. The rainfall on the last two
days was in the ratio of 4:3. The average of six days
was 0.50 inch. What was the rainfall on the fifth day?

0.4=

a+b+c+d
4

1.6 = a+b+c+d

(a) 0.60inch (b)0.70inch (c) 0.80inch (d)0.90 inch

foRRiY oTeR # uger IR R ofiaa auf 0.40 77 gof Y TS
SR &7 &7 4:3 & AU F auf g31 ©: AT oY Sfivaa

0.5

_ atb+ctdte+f

6

3 = atb+ct+d+e+f
3=16+e+f
14=e+f

awt 0.50 g o aferd R Rereft e g2
(a)0.60ST (b)0.70ST (c)0.80ST (d) 0.90 T

=
LT
1
[=Y
n
o o
o w|~1 w|.:> w|-l> W|-l>

2017.0:35 [set-A] Average

There are thirteen 2-digit consecutive odd numbers. If
39 is the mean of the first five such numbers, then
what is the mean of all the thirteen numbers?

(a)47 (b)49 (c)51 (d)45

UWE 2-3hT AT o wEa]d g1 afe Wi g o
FEIT3T BT ATET 39 B, AT A ARG TEATSY BT ALY FAT 82
(@)47 (b)49 (c)51 (d)45

3rd
term

7th
term

41 43 45 47

x2d xd x

05 equidistant terms = average is middle term, i.e. 3" term
13 equidistant terms = average is middle term, i.e. 7t" term

x+d

x+2d
05

ug > 3itwa wew g ¥, Iy e g
13 FAGIEY 7§ > 3itwa Ay ug §, 4 wear g
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2020018 [set-A] Average . o
Average marks| Average marks _ Girls Engllsh.marks _ _Girls Hindi r.narks
in English in Hindi Number of girls (G) Number of girls (G)
Girls 9 8
Boys 8 7 8= Boys English marks T Boys Hindi marks
Overall average marks 8.8 X Number of boys (B) Number of boys (B)
What is the value of x in the above table?
(a)7.8 (b)7.6 (c)7.4 (d)7.2 _ 9G +8B X = 8G +7B
e oo 882 o8 G+B
Aol F areyr | & & arey
TITHI® IS g Ir+8 (= Br7
asfear 9 8 r+1 r+1
ASH 8 7 8.8r+8.8=9r+8 _ 32+7
el ATEY UTHT 8.8 X 0.8=02r 4+1
g =4
Iuh ARt F x BT A FAT 2 r x=39/5=7.8
()78 (b)7.6 (c)7.4 (d)7.2
Percentage If A is slightly greater than B,

2017030 [set-A] Percentage

P = (40% of A) + (65% of B) and

P = (40% of A) + (65% of B)
Q = (50% of A) + (50% of B)

Q = (50% of A) + (50% of B), where A is greater than B. In
this context, which of the following statements is correct?
(a) Pis greater than Q.

(b) Qis greater than P.

(c) PisequaltoQ.

(d) None of the above can be concluded with certainty.

P = (A BT 40%) + (B BT 65%) oI
Q = (A BT 50%) + (B BT 50%) ST&l A, B W 99T 81 3% W< &
frreaferRae & ¥ i9-a1 B wE 872

(a) P,QuSITEI

(b) Q,PATSTRI

() P,QF TRERF

(d) SR H T 1S ot Frreend Frfra w F 18 frreprett S W

i.e. if A is almost equal to B,
P =105% of A

Q=100% of A

P>Q

If A is extremely greater than B,
P=40%of A

Q=50%of A

Q>P

af A, B A ATeT I3,
I afE A, B & RTHIT SRTeR 2,

P = 105% of A
Q= 100% of A
P>Q

A, BATETIST L,
P =40% of A
Q=50% of A

P<Q

2014.Q-38 [set-A] Percentage

88. The following table shows the marks obtained Freferfaa aroht #§ s w8 f @ ol 3 (a) 25%
by two students in different subjects : P faweii & fora-feay o= v fFu . b5 1875
Student | Maximum | Student |Maximum o A| | o1 B | sl
A Marks B Marks 3% F (© 1-26%
English 60 100 80 | 150 st | 60 | 100 | 80 | 150 @) . Zero
Psychology [ 70 00 | 70 100 | 70 | 100 | 70 | 100
History 50 100 60 100 e | 50 | 100 | 60 100
Sanskrit 30 50 16 25 p . i 15 25
The difference in the mean aggregate It % wer gt gfiwe ol # feam o
percentage marks of the students is 29 .
60+ 70 +50+ 30 210
¢ = = X100 = 607
Student A’s percentage 100 + 100 + 100 + 50 X100 350 60%
, 80+ 70+ 60 + 15 225
= = = 0
Student B’s percentage 150 + 100 + 100 + 25 375 X 100 60%
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2014020 [set-A] Percentage

A gardener increased the area of his
rectangular garden by increasing its
length by 40% and decreasing its width
by 20%. The area of the new garden

(a) has increased by 20%.

(b) has increased by 12%.

(c) hasincreased by 8%.

(d) is exactly the same as the old area.

Old area=LxB
New area=1.4L x 0.8B

12% increase

T ATl 3T TRAATRR ST Y Fars
¥ 40% gfg T dteTE # 20% FH A
§Y T & &rher 7 gfg d<aT 81 Y
I BT A

(a) 20% 9 SITelT &

(b) 12% I SATT &1

(c) 8% T ST Bl

(d) et QR &rher R YaaT 81

=1.12 LxB

12020Q-47 [set-A] Percentage
A shop owner offers the following discount options ;
on an article to a customer: 3'

T IR TR, U SIS, U ATed &l et Be & faraped ST &:

10% 3R 20% ?ﬁﬂ?ﬁ?ﬁ%(’:ﬁ'\’wm% AT HR BT A
20% 3R 10% ?ﬁﬂ?ﬁ?ﬁ%(’:ﬁ'\’wm% JaT PR BT 'mﬁn-—r
gl 10% ﬁmmmwwzo% AR 10% aﬁraaﬁm'ae

1. Successive discounts of 10% and 20%, and then
pay a service tax of 10%

2. Successive discounts of 20% and 10%, and then
pay a service tax of 10%

3. Pay a service tax of 10% first, then successive
discounts of 20% and 10%

PrTfeTREe & ¥ Piv—aT W 87

(a) WTED P fIT Paer 1 AW 30T fIdeT 71
(b) TTED P fIT Paer 2 AW 3BT fdeT Bl
(c) WTE® P fIQ Paer 3 AW 3BT fdeT Bl
(d) uTE® P T Wt RepeT T=™ ®U I 3w &

Which one of the following is correct?

(a) 1 only is the best option for the customer.

(b) 2 only is the best option for the customer.

(c) 3 only is the best option for the customer.

(d) All the options are equally good for the customer.

1.

MRP x .90 x .80 x 1.10
2. MRP x .80 x .90 x 1.10
3. MRP x 1.10 x .80 x .90

202178 [set-A] Percentage

If the price of an article is decreased by 20% and then
the new price is increased by 25%, then what is the net
change in the price?

(a) 0%

(b) 5% increase

(c) 5% decrease

(d) Cannot be determined due to insufficient data

af Rt avg & o & 20% &N e & 3R AR 7Y e
¥ 25% gfg il &, A qod ¥ e afac fhar gam &2
@ 0%

(b) 5% afg

(c) 5% &

(d) 3t siiwet & Hror Freaffa 78t feam S wewar

_ [set-A] Percentage

The increase in the price of a certain item was 25%. Then the
price was decreased by 20% and then again increased by
10%. What is the resultant increase in the price?

(a)5% (b)10% (c)125% (d) 15%

Ueh TR T T 7 25% gfeg Y TS T DI BT 20% wIeT

e mam 3R A= 10% o1 foram mam e & aRkomd afg = 82
@5% (b)10% (c)125%  (d) 15%

a x 1.25 x 0.80 x 1.10

5 4
125 80
X X X
4 5

110
100

11

5, 4
125 80

21X 300 * 100 X 10
kN 50

2016Q-37 [set-A] Percentage

Two numbers X and Y are respectively 20% and 28%
less than a third number Z. By what percentage is the
number Y less than the number X?

(a)12% (b)10% (c)9% (d) 8%

X-Y 82-.722

82

82

x 100 x 100

=.7212

ST AN X 3R Y, iy TRt A&am Z A 9T 20% 2T
28% BH & WEAT Y G&AT X W fore= uferera &9 &2
(@)12% (b)10% (c)9% (d) 8%

.08Z

x 100

10%
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2019.Q-34 [set-A] Percentage

In an examination, A has scored 20 marks more than B. If B
has scored 5% less marks than A, how much has B scored?
(a)360 (b)380 (c)400 (d)420

forviT Rt &, A T B W 20 3 R¥p wH U ARBATA A
5% ¥ 3 UTH fpY &, aY B 7 foha=r i o fpy &2
(a)360 (b)380 (c)400 (d) 420

A =B+20

A =0.95A + 20
.05A =20

A = 400

B = 380

B=0.95A

2021Q:54 [set-A] Percentage

P scored 40 marks more than Q in an examination. If Q
scored 10% less marks than P, then how much did Q score.
(a)360 (b)380 (c)400 (d)420

TP ORI F P 7 Q W 40 3@ fys ww Ry aflk QAP

10% P9 37h ITH fpQ, o Q = fepar 3ieh ome fepg?

(a)360 (b)380 (c)400 (d) 420

P
P
0.10P

= Q+40

= 0.90Q + 40
= 40

= 400

= 360

Q=0.90P

Q

2022Q:60 [set-A] Percentage

When 70% of a number x is added to another number y, the
sum becomes 165% of the value of y. When 60% of the number
x is added to another number z, then the sum becomes 165%
of the value of z. Which one of the following is correct?

(@) z<x<y (b) x<y<z (c) y<x<z (d)z<y<x

TS Uep AT X BT 70% T 3= TEAT y & SIIST Sl &, aF Sehr
ART y F A BT 165% B SATAT &1 ST TEAT x BT 60% UH 3T
HEIT z ¥ SITST ST &, AT ST ART 2 b T BT 165% & ST &l
frreaferfad ¥ & S19-7 U 98 82
(@) z<x<y (b) x<y<z

(c) y<x<z (d) z<y<x

0.7x + vy
0.7 x

1.65y
0.65y

0.6x + z
0.6 x

1.65z
0.65z

2019.Q-11 [set-A] Percentage

A+B=16A

A and B are two heavy steel blocks. If B is placed on the top of A, the x 100

weight increases by 60%. How much weight will reduce with respect
to the total weight of A and B, if B is removed from the top of A?
(a) 60%  (b) 45.5% (c) 40% (d) 37.5%

A 3R B & & a1 Yt @< &1 I B ®r A & ofif R 3@r o g, ar
o 60% G ST 31 AR B BT A & o W geT RAT oIy, T A 8RB &
Pl T 1 JerT & T I & 2 o2
(a)60%  (b)45.5% (c) 40%  (d) 37.5%

B=0.6A A+B

06A
16A

x 100

6
16

x 100

37.5

2020Q-55 [set-A] Percentage

In adult Population of a city, 40% men and 30% women
are married. What is the percentage of married adult
population if no man marries more than one woman
and no woman marries more than one man; and there
are no widows and widowers?

(a)SS%% (b) 34% 1554%% (d) 35%

TF TR B qIH FAR F 40% THY IR 30% Aferd
fRyanfea & Rrarfed aava iy & ufrerd 7 &, ak a1
W T6Y U & Sifirs Afer & frarg TE wvar & ok 3
f afer v & st gow & frare T8 @t §; ofk R
P forerar aiiz freR 78 &2

_AM+.3F y400

IM M M M M M M M. I 40% of males = 30% of females M+F
IR am = 3F 4103 x10
r+1
'F F F F F F F F... | —';"=z
6 240
X 10 _—
7/4 7

Separate explanation videos are available in English & Hindi
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2019.Q-16 [set-A] Percentage

When a runner was crossing the 12 km mark, she was informed
that she had completed only 80% of the race. How many kilometers
was the runner supposed to run in this event?

(a)14 (b)15 (c)16 (d)16.5

S U arfiet it i # 12 km g0 S arer g @1 IR R @Y
off, T U Ig IATAT AT foF I S T Paet 80% e ORT o
81 39 eIt § 39 rfreT @Y ferae fepeiiiex e am?

(a)14 (b)15 (c)16 (d)16.5

12 km

12 = 80% of race

80
= X race
12 100

race=15

2018Q-41 [set-A] Percentage

A student has to get 40% marks to pass in an
examination. Suppose he gets 30 marks and fails by 30
marks, then what are the maximum marks in the
examination?

(a) 100 (b)120 (c)150 (d)300

Y odtem ¥ o 8 & fAU U fremeft @ 40% 3w
TIRET F1 g 5 S 30 3iep fyerar & T2 ag 30 3T
A STAVT BT AT &, Y TR¥&T ¥ Sftreer e fepe 872
(a) 100 (b)120 (c)150 (d) 300

60 = 40% of max marks

60 = 40 (max marks)

100

max marks = 150

2016Q-30 [set-A] Percentage

Anita’s mathematics test had 70 problems carrying equal

(@1 (b)5 ()7 (d)9

JrfHaT & TIOTT TS F 70 TS A 3iepi b O fATH 10 BT b, 30 ORI P 3R

marks i.e., 10
arithmetic, 30 algebra and 30 geometry. Although she answered 70% of the
arithmetic, 40% of the algebra and 60% of the geometry problems correctly, she
did not pass the test because she got less than 60% marks. The number of more
questions she would have to answer correctly to earn a 60% passing marks is:

Questions Correct
10 arithmetic | 0.7x10=7
30 Algebra 0.4x30=12
30 Geometry | 0.6x30=18

Total =70 Total =37

Passing marks = 60% of 70

30 ST & A1 TR SHT BV B 70%, SISHIIVNT b 40% 3R SATHIT B 60% Tt =90 70

BT WE IR T, a8 e F Wher TE g HIfp I AP 60% W HH A IF fpery
3R w78l & WE SR R B, Forvy £ SRY 60% bt arst wTHieh et T ErT?

@1 (b5 (7 (d)9

100
=42
42-37=5

2019.Q-17 [set-A] Percentage

RIS & U T 9000 & 3R I8 T HIaTse dSWe WS ATedT &; cfthe IWaT uaT =er & fop Iwh
T BT WRIeH & oy 3rmaeae I1fT &1 Padt 75% B ST a8 T fors 3 T 2000 SR o¥aT 81 a9

(a) ST & UTe oY oY EeWe wRIe & forg wartw ifdr A &

(b) 1oL U1 S It & AR & R dsdie wlie & oy smaeas g1
(c) oL U BT WIS & fY gt fr & ofik St @ie & 918 S Ut T 500 B

9000 = 75% of price

9000 = i X price
4

Price = 12000

(d) TS & U BT TR & fY uafe A1fdr & ofik St @die & 91 WD U T 1000 B

Raju has X 9000 with him and he wants to buy a mobile handset; but he finds that he has only 75% of the
amount required to buy the handset. Therefore, he borrows X 2000 from a friend. Then

(a) Raju still does not have enough amount to buy the handset.

(b) Raju has exactly the same amount as required to buy the handset.

(c) Raju has enough amount to buy the handset and he will have X 500 with him after buying the handset.
(d) Raju has enough amount to buy the handset and he will have X 1000 with him after buying the handset.

Separate explanation videos are available in English & Hindi
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2022Q:64 [set-A] Percentage

Two candidates X and Y contested an election. 80% of
voters cast their vote and there were no invalid votes.
There was no NOTA (None of the above) option. X got
56% of the votes cast and won by 1440 votes. What is the

80% voters = votes
56% of votes = X
44% of votes = Y

12
100

X votes = 1440
votes = 12,000

Candidates in a competitive examination consisted of
60% men and 40% women. 70% men and 75% women
cleared the qualifying test and entered the final test
where 80% men and 70% women were successful.
Which of the following statements is correct?

(a) Success rate is higher for women.

(b) Overall success rate is below 50%.

(c) More men cleared the examination than women.
(d) Both (a) and (b) above are correct.

12% of votes = 1440 0.80 x voters = 12,000
total number of voters in the voters list? voters = 15,000
(a) 15000 (b) 12000 (c) 9600 (d) 5000 !
ar IEfeaRy, X 3R Y, ¥ v fafe & wrr foram 80% ADA0O0N0OAN
@RI = waer fpar 3R IS 3w 99 e g3 NOTA vorers o L W L
AARTT AT H FARTATSAT Y Pt fperil He 82 56% Xy X — ]
(a) 15000 (b) 12000 (c) 9600 (d) 5000 44% Y

120150-80 [set-A] Percentage

forRft ofRrantt ot & 60% qow SiR 40% A utameft &0
70% GO 3R 75% Afgerm uRRIRRET 7 3dd a9iermr § wher
BraR Sifter wdteror § wRT form R 80% oW SR 70%
feeTs Aher JET FrefaRad & & BI9-aT For War 572

(a) HAfEeTN ¥ WheTdT &x STaeR gl

(b) I AT &X 50% A T Bl

(c) HfEcTaiY &t STer qoy STfired WeEdT § e vel

(d) SUUH (a) 3R (b) T WET &

Candidates

Option (a)

Success rate in men =0.8 x 0.7
Success rate in women = 0.7 x 0.75
Higher in men

Option (b)

Success rate in men more than 50%
Success rate in women more than 50%

Men " Women I
Qualified | Qualified |

Hence, overall success rate cannot be below 50%

2%

@/QJ

What is more? [.60x.70x.80] or [.40x .75 x.70]
What is more?
What is more?

Option (c)

[.60 x .80] or [.40 x .75]
4800 or 3000

2021Q:09 [set-A] Percentage

In a class, 60% of students are from India and 50% of
the students are girls. If 30% of the Indian students are
girls, then what percentage of foreign students are
boys? (a) 45% (b) 40% (c) 30% (d) 20%

T eIl ¥ 60% feremefi wRa ¥ & &iiR frenf¥at &1 50%
wiefpar 81 afe ard Reliar & 30% sfear € ar
el RrenfRiat § R ufttera ae® &2

(a) 45% (b) 40% (c) 30% (d) 20%

Students

Indians | Others |

PRGN
I Girls I Boys ” g " b I

Boys=0.5xs
Boys=(0.6x0.7 xs)+(0.4xb xs)

0.5xs=(0.6x0.7xs)+(0.4xbxs)
0.50=0.42 +0.40b
0.08=0.40b
0.20=b

Separate explanation videos are available in English & Hindi
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|2017G"32 [set“A] Percentage =AY 21eR 7 12% uRaR t& af § Rs 30,000 W & HIN &,
In a city, 12% of households earn less than Rs 30,000 per i 6% TURAR T& a¥ ¥ Rs 2,00,000 ¥ 31fis FART &, 22%

year, 6% households earn more than Rs 2,00,000 per year, : gfyqr wF ¥ ¥ Rs 1,00,000 ¥ 3TRIG AT & T2 990
22% households earn more than Rs 1,00,000 per year and R . .
990 households earn between Rs 30,000 and Rs 1,00,000 T ¥ Rs 30,000 ¥ Rs 1,00,000 & 4t &

per year. How many households earn between Rs 1,00,000 ; e aRaR g a¥ # Rs 1,00,000 § Rs 2,00,000 & St
and Rs 2,00,000 per year? (a) 250 (b) 240 (c)230 (d)225 : HHTT E? (a) 250 (b)240 (c)230 (d)225

(12% of H) + 990 + (22% of H) = H
12% 990 ,  22%6% 6% 12H + 990 + .22H = H
30,000 1,00,000 2,00,000 990 = .66H
990x100 _
66
1500 = H

.16 x 1500 = 240

[2019°G"39 [set“A] Percentage Old (old price) x 8 = money
Rakesh had money to buy 8 mobile handsets of a specific company. But New (new price) x 10 = money
the retailer offered very good discount on that particular handset. Rakesh
could buy 10 mobile handsets with the amount he had. What was the Old price x 8 = New price x 10
discount the retailer offered? (a) 15% (b)20% (c)25% (d) 30%
8 _ New price
MR P U U fIRIE Hu=T & 8 HiarseT dsie WIS & foIq == o 10 ~  Old price
T GERT AT 7 I T FSUC TR I et P BT TRATa Tl 1eher
O IRT BT GRRIRT F 10 HaTseT Seve WE W GERT QAT FRT New price is 80% of old price,
> . 0, -
TRt ge et 2 (a) 15% () 20%  (c) 25%  (d) 30% i.e. 20% discount
5 AT WAl HrAd FHT
Smart approach : Shopkeeper is saying : get 10, pay for 8, i.e. pay 20% less 80% % It 20% B
’ LN
GHFECR FE @I g : 10 a, 9/ 8 & &Y, AdeT 20% FH
202070 [set-A]| Percentage
As a result of 25% hike in the price of rice per kg, a old price(P) x quantity(Q) = 1200

person is able to purchase 6 kg less rice for Rs.

1,200. What was the original price of rice per kg? New 1.25P x(Q-6) =1200

(a)Rs.30 (b)Rs.40 (c)Rs.50 (d)Rs.60 P xQ=1200
Araet 3 AT el e ¥ 25% i gfg & RemvTRY, W 1.25P x Q - 7.5P =1200
b % 1,200 3 6 Rpelt T aTae @E UTaT ¥ AT BT 1500 - 7.5P = 1200
mfr freit sRfves Joa T or? 300 = 7.5P
(a)Rs.30 (b)Rs.40 (c)Rs.50 (d)Rs. 60 P=40
Profit Loss
120200-40 [set-A] Profit & Loss
A person bought a car and sold it for Rs. 3,00,000. If he SP —CP
incurred a loss of 20%, then how much did he spend to Profit or loss % = ——— x 100
buy the car? cp

(a) % 3,60,000 (b) X 3,65,000

(c)X3,70,000 (d)X3,75,000 -20 = W x 100

T <Ifth 3 U BR ENIeT 3R T 3,00,000 & 5= &1 FfS

I 20% P &I+ oMY TS, df SHT PR WNieT § fohee -CP = 5(3lakh-CP)
PRIEY fhy? -CP = 151lakh — 5CP
(a) £3,60,000 (b) ¥ 3,65,000 4CP = 15 lakh

(c) 3,70,000 (d) ¥ 3,75,000 CP = 3.75 lakh

Separate explanation videos are available in English & Hindi | 335t 3l & & arcmer-srerer AifEAY 3qcreer §
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2018Q:57 [set-A] Profit & Loss

A shopkeeper sells an article at Rs. 40 and gets
X% profit. However, when he sells it at Rs. 20, he
faces same percentage of loss. What is the
original cost of the article?

(a) Rs.10

(b) Rs.20

(c) Rs.30

(d) Rs.40

PIS TP ¥l v BT T 40 F @R X% AT
AT 1 T, ST a8 I av] Y T 20 HIAAT &,
a I S & wfverT Y T B 1 avg A A
AT foperit &2

(@) 10

(b) T20

(c) %30

(d) T40

Profit or loss % =

SP—CP
cP

x 100

x 100

40 - CP
X=—"—=
cp

= 20-CP, 100

<
x 100

7

o
|

= [40=CP | 00| , [20-CP
cp cP
_ 100
cP
60-2CP
30

[40-CP + 20-CP]

o
1

CcP

2016 Q-80 [set-A] Profit & Loss

A person allows 10% discount for cash payment from the
marked price of a toy and still he makes a 10% gain.
What is the cost price of the toy which is marked Rs. 770?
(a)X610 (b)X620 (c)X630 (d)X640

P s il Racit 6t sifea $Ma W), T8 P &
g, 10% Be a7 & AR o S/ 10% &1 @ BT 51 S
Raeii= & T HrHe T 8, FoTeh sifepa e $770 872
(a)T610 (b)T620 (c)T630 (d) T 640

MRP =770

SP=770-77
=693

1.10 CP
cP =

SP = CP + Profit
CP+0.10 CP
1.10 CP

693
630

201423 [set-A] Profit & Loss

If Sohan, while selling two goats at the same price,
makes a profit of 10% on one goat and suffers a loss of
10% on the other

(a) he makes no profit and no loss.

(b) he makes a profit of 1%.

(c) he suffers a loss of 1%.

(d) he suffers a loss of 2%.

If e <Y IHRAT BT TP & T UR JIDR, Yb THA IR
10% T FHHATCT & 3R TR TR 10% BT Tl &, -
(a) S T AT AT BT 3R 7 & BT BN

(b) S 1% BT &TH BTl

(c) SN 1% HY erfr arin

(d) S 2% Y erfrarm

A person sells two items at same price
He makes 10% profit on one, and 10% loss on other.
He makes net 1% loss.

A person sells two items at same price
He makes 20% profit on one, and 20% loss on other.
He makes net 4% loss.

A person sells two items at same price
He makes 30% profit on one, and 30% loss on other.
He makes net 9% loss.

A person sells two items at same price
He makes 25% profit on one, and 25% loss on other.
He makes net 6.25% loss.

T ek &Y IRl T WHI Fod UR 9T B
T8 T TR 10% AT SR TR TR 10% BT I 2l
I et Fireten 1% 1 81T |

T feh & RSl BT A e OR 9T 8l
TE & IR 20% ST SR TR R 20% BT 377w &1
I T reTeh 4% 1T 8T |

T ek &Y Gl T WA Jo UR 9T B
T8 T TR 30% T SR TR TR 30% BT Ierar 2l
I e FiretTes 9% @1 BT |

Tep cafeh ST a3l T WA oo U= et 81
T8 T TR 25% T SR TR TR 25% I et ol
I e FreTes 6.25% BT+ ST |

Separate explanation videos are available in English & Hindi
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2017 Q-20 [set-A] Profit & Loss

Gopal bought a cell phone and sold it to Ram at 10% X100

profit. Then Ram wanted to sell it back to Gopal at 10% <

loss. What will be Gopal’s position if he agreed? H = rl >

(a) Neither loss nor gain (b) Loss 1% H mobile Gopal
. o : o, :

(c) Gain 1% (d) Gain 0.5% i No profit or loss

TMYTeT = U el P TS 31X IH 10% T IR M B 5 fm
g ¥, I I AU YT BT 10% BT+ SSTHY 97 AT TEAT 2
i MuTer 3% T WeHa &1, o St Rrerfey aam gnfte

(a) T v @, T & BIfT (b) BT 1%

(c) AT 1% (d) T 0.5%

mobile g

Smart approach (Method-1)

Ram made loss of Rs 11.

Hence, Gopal made profit of Rs 11.

So, he got Mobile worth Rs 100, for Rs 89, i.e. 11% profit

Method-2 { Method-3
In figure 1, there is nothing like profit or loss. It’sa : If you want to consider figure 1 also, then think like this.
single transaction. i

Gopal’s total money transactions were:

So, we will look only at figure 2. Give 100 and 99, get 110, i.e. total give 199-110i.e. 89
Here, Gopal made profit of Rs 11, by exchanging
an item of worth Rs 100. i By giving net Rs 89, he was able to purchase a mobile worth Rs

So, taking 100 as base, Gopal made profit of 11%. { 100.Hence, he made a profit 11%.

Separate explanation videos are available in English & Hindi | 335t 3l & & arcmer-srerer AifEAY 3qcreer §
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